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= Year 9/10    = LINEAR FUNCTIONS      = Worksheet 3
	1. Write down the x and y-intercepts of the graph of 
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	2. Write down the x and y-intercepts of the graph of 
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	3. Write down the gradient and  y-intercept of the graph of 
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	4. Find the gradient and  y-intercept of the graph of 
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	5. Find the gradient and  y-intercept of the graph of 
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	6. Sketch the graphs of 
[image: image6.wmf]x

y

2

=

 and 
[image: image7.wmf]3

2

-

=

x

y

 on the same set of axes.
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	7. Is the line 
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 parallel to the line 
[image: image9.wmf]3

2

.

0

+

=

x

y

? Why?


	8. Is the line 
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 perpendicular to the line 
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? Why?



	9. Determine the equation of the line that has a gradient of 0.3 and passes through the point 
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	10. Determine the equation of the line that passes through the point 
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	11. Determine the equation of the line that passes through the origin and is perpendicular to the line 
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	Numerical, algebraic and worded answers.




1.  (4, 0), (0, 9)


2.  (3, 0), (0, −2)


3.  −1/3, (0, 2)


4.  −1/2, (0, 1)


5.  2/3, (0, −2)


7.  Yes, same gradient 0.2


8.  Yes, 


    product of gradients = −1


9.  y = 0.3x − 0.9


10.  y = −x


11.  y = x
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